Binary code

How fo converf decimal numbers o binary numbers:
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A computer only knows the two digifs 0 and 1. All numbers, all leffers are therefore

represenfed with these fwo digis.

The digifs 1-6 are on the binary cube, but in the form in which computers can read

the digits.

1= 001 4= 100
2= 010 5= 101
3= 0N 6= 110



At the beginning the children have a liffle help in fronf of them. This help looks like
this:

If the children roll 100, then T means that the number in the circle remains visible. 0

means | don'T see the number and cover it up.
At 100, the number 4 remains visible, the other two numbers are covered.

A1 101, 4 and 1 remain visible. The second digif is 0 and is therefore covered.

In this way you can nof only play well, buf also do math in a complefely different

way. ['ll franslafe a game and send if fo you.



